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1. #FHIE:

@ BEREEE:

FREY 01g #=, fohinA Iml g92EUE, #kE5%E, 12000rpm, 4°CE(» 10min, B
EREIEESR EP €h, 12000rpm, 4°CERED 10min, ISR SRS
[if]: SEnEFE, oHEERANAESE(g): BEWMER(mLA 1: 5~10 MbkFRFTHREL
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RN AR ERER, EiEENE 12000rpm, =EEE 10min, B HEERSR.
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12000rpm, 4°CE(» 10min, ELLE, Sk 0,
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= 2 2

EA, EEAALE 0min, F O336nm A EIEMAEE, AA=A TEE-A I

RE (si#F@—T88WHE) .

[El: 1. F A MEEERT 1.8, HFAFENGEE, WiEE D AAEATIHE.
2. FAA EEMLE, TISEFEEEE W (A8mE 0.2g) , sSIBInEEEIIEE V1
(4NI==E 40pL, Wigsn—ErmREl) |, WEEERR W VI fAAHELTHE.
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1. NEERREERTE: v = 0.3844x-0.0085; x mtnEREE (umol/mL) |, v RIRFEE2A.
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2. IERAEE:

BEZ "E(MG)2E(umol/g E2)=[(:A+0.0085) +0.3844 x\V1]+ (WxV1:V)xD
=2.6%(2A+0.0085) W xD
3. EREERHE:

BHEZ“EMGEE(umol/mL)=(+A+0.0085)+0.3844 xD=2.6=(=A+0.0085) =D
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4, EERMEITE:

HEZ “E(MGEEZ(pmol/104 cell)=[(+ A+0.0085)+0.3844 =V 1]+ (500= Y1+ V)=D
=2.6%(«A+0.0085)+500=D

VB, mL; V1 ---EREREEEERY{EE, 0.02mL;
W---B=mEE, g; 500---HE#ME, H;

D---BiThEES, =HEEH 1.

Bt trERREEHIIETE:

1 #slEtwEmER (15pmol/mL) :

2 BRI EREE - MRERERtER: 0,04, 08, 1.2, 1.6, 2. pmol/mL. t1
ARiEfrE AR R,

3 HaElEEERIEEERE, SR FREEE.
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